Lesson 4 Periodic Table and Electron Configuration

1. Anelement has the following ground state electron configuration for its
valence electrons 32 3pX:L 3py:L SpZ:L . Theelement is

a) auminum b) silicon c) phosphorus ) d) germanium €) arsenic

2. The electron configuration that represents a reactive nonmetallic element is

a) 1s22522pB3sl

) 1s22522p8323p°
d) 1s22522p53s23p0
e 1522522p93s23p0452

3. Which of the following ground state electron configurations will most likely represent
an alkali metal?

a) 182 2¢2 2p% 3¢ 3p? b) 15 25° 2p° 35 3p° 4sl

o) 12 262 2pB 352 452 3910 d) 1% 262 2p0 352 3p° 482 3d10 4p2

4. The valence shell of an atom has the electron configuration 4524p2. The chemical
symbol for thisatomis

a S b) Ti d) Sn e Cd

5. Which of the following represents the electron configuration of an excited atom?

a) 152 262 2pP b) 12 22
Q) 1 282 2p0 3sl d) 152 262 2pb 342



6. Inwhich of these pairs do both have the identical electron configuration?

a) Li, Rb o F,caZt
d) Ne Ar ST Al

€)

The next three questions refer to the following electron configurations for neutral atoms:

A) 1522520p0352300452
B) 1s22622p0352300451
C) 1s22522p%3523p3
D) 1522622093523
E) 1s22622p083523p%

7. Which of the choices would represent an inert gas
a A b) B c) C ” e E

8. Thepair of elements most likely to form anionic bond is

b) CandE ¢ DadC d) AandD € AandB

9. The formula of the compound most unlikely to formis

a3 AE b) BoE 9 BiC € AC



Problems

1. Write the electronic configuration for: a) Pps b) SONi C) 65cu
33 28 29

2. Write the shorthand electron configuration for: P, Fe, Br, Mo, Sb

3. Write the valence electron configuration for: Al, ClI, Rh, Se,

Multiple Choice Answers
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<CCBCEB D | A c>

\




